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1. fAafa & fagdelierar () &1 A6 & (The unit

for permitivity of free space (eo) is)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8CYaWtFcUlgA

A.CN?m 2

B.CNm 2

C.C?’N 1m 2

D.CN ~1m 2

Answer: C

O A &

2. fagdig gy & fosedt fig @ Aeft gRist &
SISPIfOIAT IPT 81T € (In an electric circuit the


https://dl.doubtnut.com/l/_8CYaWtFcUlgA
https://dl.doubtnut.com/l/_b7n7ubZfuc60

algebraic sum of all current meeting at a point

is) -

A. %[ (zero)
B. 319 d (infinity)
C. gdTHD (positive)

D. BUMTHA® (negative)

Answer: A

O S &



https://dl.doubtnut.com/l/_b7n7ubZfuc60

3.0 dR & 1A &RT yaTfed 81 W8l ¢ | Afe saiae=
R 33T 1.6 x 10" PC & @ drR I ufa Jwus

ydifed Scided ol ST & | (A wire carries a

current of 1uA. If charge on an electron is
1.6 x 10 °C, then number of electrons
flowing per second through the wire is) -
A.0.625 x 10"
B.0.625 x 10"

C.1.6 x 10~

D.1.6 x 1013


https://dl.doubtnut.com/l/_pfKXVoHsEhuv

Answer: A

O dfa &

4. 519 ot witer 1 gifed fosam sirar € Y S9!
A9-AHT (When an ammeter is shunted, its
measuring range) -

A. decreases

B. increases

C. remains unchanged

D. none of these


https://dl.doubtnut.com/l/_pfKXVoHsEhuv
https://dl.doubtnut.com/l/_rhIVJ7EGQzbv

Answer: A

O dfa &

sﬁmmmﬁwﬁwwm
B 1 foan & 90° ot @t ¥ e 7 @ |

%
(A magnet of magnetic moment M is lying

_>
along a uniform magnetic field B. The work

done in rotating the magnet by 90° is) -

A. %[ (zero)

BMB
S22


https://dl.doubtnut.com/l/_rhIVJ7EGQzbv
https://dl.doubtnut.com/l/_FxDsnfrzDOpz

C. MB

D.2MB

Answer: A

O A&

6. YAl &RT & HeI-AT-apl 7 3R 3T AR
HH &I 3HUrd &IdT & | (The ratio of root-mean-
square value and peak value of alternating

current is) -


https://dl.doubtnut.com/l/_FxDsnfrzDOpz
https://dl.doubtnut.com/l/_gkdoNtdYJ7Nb

Answer: A

O S s &

7. Fafa & Reddadhg &1 H ara aet g |
(Speed of electromagnetic wave in free space

is) -


https://dl.doubtnut.com/l/_gkdoNtdYJ7Nb
https://dl.doubtnut.com/l/_mHhWoS3GFxAH

A. o€

B. \/o€o

-

N

v/ H0€0

o

HOEO

Answer: C

O S &

8. ULl I AUl 59 Ueh HIegH A g@R H1edH |
ST BAl &, @ Y O I I T8 s6adi & ? (When

a ray of light passes from one medium to


https://dl.doubtnut.com/l/_mHhWoS3GFxAH
https://dl.doubtnut.com/l/_qONlN0YfT7uZ

another, which of the following does not

change ?)

A. 3 (velocity)

B. 31dfd (frequency)

C. 319ddi (refractive index)

D. @3¢ (wavelength)

Answer: B

O S &



https://dl.doubtnut.com/l/_qONlN0YfT7uZ

9. ©ice fBRIH (h) H fIAV € (Dimensions of
Planck constant are)-

A MLT !

B. ML*T ~1

C. ML*T —2

D. MLT —?

Answer: B

O da &



https://dl.doubtnut.com/l/_rceAlNdjBckY
https://dl.doubtnut.com/l/_zci9gVy4T3Oc

10. A9 & A &9 gl HUT 981 € ? (Which of the

following is not a fundamental particle ?)

A. =IZH (Neutron)

B. e (Proton)
C. a-PUT (a-particle)

D. g@afl::[ (Electron)

Answer: C

O dfd &



https://dl.doubtnut.com/l/_zci9gVy4T3Oc

11. RHAY] H Seidei= dbacl 3-8 HTHI H gH Thd &
SR 3701 B0l W3 quites ST &l 2 (In an
atom, electrons can revolve only in those
orbits in which its angular momentum is

integral multiple of) -

h
A —
7T

B.2mh

27
C. —
h

D. none of these

Answer: A


https://dl.doubtnut.com/l/_Vedh2Kcg0X0d

O A&

12. 99 Sgd & 9y Jearas &1 ufeRig (As
temperature increases, the resistance of a
semi-conductor) -

A. dadl 2 (increases)

B. Tl & (decreases)

C. R I&dT & (remains constant)

D. 31efard® W AR @dl & (depends upon

semi-conductor)


https://dl.doubtnut.com/l/_Vedh2Kcg0X0d
https://dl.doubtnut.com/l/_VbcRiVt7m7vx

Answer: A

O dfa &

13. OR 3¢ & faU §ford s &dT & (The

boolean expression for OR gate is) -

AA+B=Y

B.A.B=Y


https://dl.doubtnut.com/l/_VbcRiVt7m7vx
https://dl.doubtnut.com/l/_YDDniO66rLcc

Answer: A

O dfa &

14. 32 9N BT WIad= ST & -

A. TITHSA I
B. 3¢CithaR A
C. avyHsa 9

D. (b) Ud (c) G &

Answer: D


https://dl.doubtnut.com/l/_YDDniO66rLcc
https://dl.doubtnut.com/l/_1pqFONIuCRNt

O A&

15. FH1E dbael Dl o ISTS gl & -

A. 750 Hz
B. 750 kHz
C.750 MHz

D. 750 GHz

Answer: c

O S &



https://dl.doubtnut.com/l/_1pqFONIuCRNt
https://dl.doubtnut.com/l/_0VM5mGaZ91gv

16. fae[d &5 @10 91 & ? S Q I[Ull Pl et
® |

O da &

17. fodt AeT & faed d1ess o P gk ¢ | fagd

dlg® 91 d2T T fAUaiar # @) 3R &1 31
®Y | (Define emf of a cell. Mention two
differences between emf and terminal

potential difference.)

O da &



https://dl.doubtnut.com/l/_0VM5mGaZ91gv
https://dl.doubtnut.com/l/_PCONHun6fG9L
https://dl.doubtnut.com/l/_NXCq4YZEo3yT

18. hifdid PIUT Pl IRUIMNA B | UPHIA & goi

HidR® WIadd &1 Adi Bl 3eeid DY | (Define

critical angle. Mention the conditions of

internal reflection of light.)

O S &

19. 3I8H 1 FT € ? TP &l TIIPT BT 3oeid P
|

O da &



https://dl.doubtnut.com/l/_NXCq4YZEo3yT
https://dl.doubtnut.com/l/_yZXFsfRokIgN
https://dl.doubtnut.com/l/_tuBbPOlWjQ1o

20. ¥G-IRUT IUNH dYT =AY WRUT IUTics bl
ORI B |

O S &

21. IRBIS &P ATNBR RATI] Hiset T & ? (What

is Rutherford's nuclear model of atom ?)

O da &



https://dl.doubtnut.com/l/_tuBbPOlWjQ1o
https://dl.doubtnut.com/l/_bbHcKXe7C9ej
https://dl.doubtnut.com/l/_1nH7HQKkcMWm

22. cIA fd vd ARG deq Hait bl gRuTeT &
|

O S sw

23, Uch TifSINCR Bl AR &5 Il Ud HH Sifdd =i

gidT & ? gHSMST (Why is the base region of a

transistor thin and lightly doped ? Explain.)

O S sw



https://dl.doubtnut.com/l/_nOXrpl8AfmSB
https://dl.doubtnut.com/l/_G9fRU8eiqTZ6

24. T fyuanTdt & RAgid & IHsAET | & mafie

Acll & fde[d dTgsd dall B oIl P4 & fav Tb
g9y &Wid | (Explain the principle of a
potentiometer. Draw the circuit diagram for
the comparison of emf of two primary cells

using a potentiometer.)

O it s

25. WA & Hefld siaeH P Jabra fgga-3maof

Pl T UKl DIfSIU | (Derive an expression of


https://dl.doubtnut.com/l/_XC6fmRGukwGJ
https://dl.doubtnut.com/l/_4LEPvl9nsJzV

the magnetic dipole moment of orbital

electron of an atom.)

O ra &

26. AR @ T JATHR FHUsa! H 100 BN &, T ol
3537 8.0 cm € 31 3TH 0.40 A &I &RT FaTed &l
38l & | P & g W qabI & BT URHTOT T &

?

O &



https://dl.doubtnut.com/l/_4LEPvl9nsJzV
https://dl.doubtnut.com/l/_phE3TIFtgnjI

27. 813319 &I RAgid adV | 39 RAgid & 3wrT 3
YehI9l & 379 b fAIHT Bl AT B9 | (What is
polarisation of light ? State and explain

Brewster's law.)

O ot s

28. Ife AT o YAPT | &1 & - fodl & o9 i g
0.03 cm., YEI-fBGI &I g & UG Bl QT 1.5 m 3R
barg fihst A =Y ydid st A g1 1 cm &, dl
FdgR U 0 gHI & e AP | (In


https://dl.doubtnut.com/l/_HwDQrqMyGxx0
https://dl.doubtnut.com/l/_v0FT5Z3OaZBf

Young's experiment, the slits are 0.03 cm apart
and screen in 1.5 m away from the surface of
the slits. The distance between the central
fringe and the fourth bright fringe is 1 cm.

Find the wavelength of the light used.)

O &

29. YHI2l fAe[d TTd T & ? YobIl fagd guTd &
foTu 31X & THIBRUT &Y AT B | (What is
photoelectric effect ? Establish Einstein

equation for photoelectric effect.)

| e |


https://dl.doubtnut.com/l/_v0FT5Z3OaZBf
https://dl.doubtnut.com/l/_557sBjqqo6rl

30. 3R SRS T g ? dlees] P[cicy & ®T H AP
fopam WASITSV | (What is Zener Diode ? Explain

its action as a voltage regulator.)

O dra &

31. Hg &1 € ? Higeld &) 99Tl &Y & ?
(What is Modulation ? Why is modulation

needed ?)



https://dl.doubtnut.com/l/_557sBjqqo6rl
https://dl.doubtnut.com/l/_4lshg6BkYTxC
https://dl.doubtnut.com/l/_tNF62rzOkItC

32. fae[d faya &I aRuIfed &2 | U fae[dla fggla
& PRI fosdl foig R fae[d faqa T ZsTeb Ured v |
(Define electric potential. Derive an expression
for electric potential at any point due to an

electric dipole.)

O A&

33. R qeffadl & I &1 AT ddV | SHDI
erIdl & U A &Y A 3afAd gdal IMeld Wit


https://dl.doubtnut.com/l/_tNF62rzOkItC
https://dl.doubtnut.com/l/_7iUFOiWwhsc1
https://dl.doubtnut.com/l/_NLZOJFomZPiN

& BRUT fagd &8 & v 23T U o 319 fdig (i)
WA & 98 TG (i) Wi & HidR & | (State
Gauss's theorem in electrostatics. Use this
theorem to derive expression for electric field
due to uniformly charged thin spherical shell

at a point (i) outside and (ii) inside the shell.)

O A&

34. fagd JahIF R & v U1 &1 fAgH ford |
THARY G & H FHARY I I gfold Uh pugail

4 URA digd dc Bl sl UId B | (State



https://dl.doubtnut.com/l/_NLZOJFomZPiN
https://dl.doubtnut.com/l/_0uWbPYwD2Yz9

Faraday's law of electromagnetic induction.
Derive expression for the emf induced in a coil
rotation uniformly in a uniform magnetic field.

Mention the nature of this emf.)

O A&

35. JuiihH H L-C-R IRUY H ATcchifeieh faefd-e/RT b
Falh U Y IfE I R JAIad! faefd drgep ol
SRIAA & | 37716 & folv o Ui @3 | (Derive
expression for instantaneous current in a

series L-C-R circuit if connected to an


https://dl.doubtnut.com/l/_0uWbPYwD2Yz9
https://dl.doubtnut.com/l/_JkaqHwTXZQvS

alternating emf. Obtain the condition for

resonance.)

O A&

36. ol i TAg W U & folv

B2 M “2;{“1 PI 2T &, 51T 9el B

v Uu

=T 31ef € | (For refraction at an spherical

surface, establish the relation
2 1 2 — M1

£2_" _ a a , Where terms have
v U R

usual meanings.

O &



https://dl.doubtnut.com/l/_JkaqHwTXZQvS
https://dl.doubtnut.com/l/_tqYJD4UJhWC3

37. 815019 &1 Rigid 9dv | 9 Rgia & 3waeT 3
YehI9l & Ydc- & fAIHl ol AU Y | (State
Huygen's principle. Establish the laws of

refraction of light using Huygen's principle.)

O A&



https://dl.doubtnut.com/l/_tqYJD4UJhWC3
https://dl.doubtnut.com/l/_zoIzbtDCDdOp

